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Fall 1999

Given the following 5 statements: 1) All women are good
drivers. 2) Some women are good drivers. 3) No men are
good drivers. 4] At least one man is a bad driver. 5) all
men. are good drivers. The statement that negates 5 is:

Al 1 B) 2 £y 3 D) 4

How many three digit numbers can be written using no 0's and
at least one 77 -

For the set (40, 90, 60, 50, x}, the mean, mode, and median
are all equal. Find x.

If 3 blots equal 4 bleets and 5 bleets equal 6 blits, what is
the ratio of one blit to one blot?

Bill can run around an oval track in 40 seconds. Sue, running
in the opposite direction, meets Bill every 15 seconds. What
is Sue’'s time around the track in seconds?

A) 12_; B 28 © 27% D) 55



)

7)

8)

9)

10)

Find the length of the longest line segment that can be drawn
in (or on) the figure shown below.
9

L]

120

Suppose £, g, and h are functions defined for all real numbers
such that f(x) = g(x - 1) and g(x) = h(2 - x). Which of the
following must be true? :

a) hi=x)
2y hia)

f(4 - x) B) hix)
£(3 - x) D) hix)

£(1 - 2X])
fix - 4)

W

The largest prime factor of 41! + 42! + 43! is:

a) 43 B) 37 e) D) 4l

A bag contains 5 blue marbles, 4 white marbles, and 3 red
marbles, all identical except for color. If 3 marbles are
randomly selected without replacement, what is the probability
that the marbles will be the same color?

Five robots produce 5 automotive parts in 5 minutes. How many
packages, each containing one part, could be produced by 10
robots in 10 hours?
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Find all values of x where (F(x)]* = Fix) GI(x).

gvaluate 3 - 2 — yratx)
B = i
3= 2
; TR S
3 -2
2 7
A/) 2 B 0O C) 3 D) 3

(a + b)° there are 1 + 1 dissimilar

In the expansion of
in the expansion of

cerms. The number of dissimilar terms
(a + b+ c)t? is:

a) 11 B) 33 c) 66 D) 132

vertical line segments are drawn at each of the positive

integers, connecting the graphs of ¥ =(%)x and y‘=(%)x

The sum of the lengths of these line segments is:

A}% 5 1 O 2 D 12

region shown. The circle just
3 sides.

Find the area of the shaded
fits in the rectangle and is tangent on

7 inches
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If you add the 0%, 1%, 3, and 4" powers of a it :
: - ' pocsitive
number, then the result cannot be: prime

A) An odd number B) An even number
¢) Less than 50 D) A perfect square

Exactly one number is in the set A N B M CnND where sets

A. B, C, and D are as defined. What is the number?

A = (8, 18, 2%, 36, 45, 5S4, 83, . ...l

B = (44, 144, 2?4, 144, 444, 544, 644, 744, 844, 944, 1044,
c - (3 30) 31,32, 33, 34, 35, 36, 37, 38, 39, 300, 301,

D = ?2%&9; iuéi, 1002, 1003, 1004, . . ., 9999}

Which of the following numbers is the largest?

A) 125 (126) (127) (128} . . . (374) B) 250

2
i
2 :éz | by S

An exponential expression has a base of 4 and a positive
exponent. If the base is doubled, by what percent would the
sexponent be decreased in order to leave the value unchanged?

2 2 — 2 i
The fraction a* - b c? + 2ab ;g (with suitable
g% » ct - b* + 2acC '

restrictions on a, b, and ¢):
&) Irreducible B) Reducible to -1

: a-b~+c : a+b-c¢
C) Reducible to b D) Reducible to S e-F
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